AP Review #6 Answer Key with Scoring Rubrics
1. Let f  be the function given by 
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a)  Write an equation for the line tangent to the graph of 
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b)  Find the x-coordinate of the critical point of 
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.  Determine whether this point is a relative 

     minimum, a relative maximum, or neither for the function 
[image: image7.wmf]f

.  Justify your answer.



c)  The graph of the function 
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 has exactly one point of inflection.  Find the x-coordinate of 


     this point.



d)  Find 
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2. A particle moves along the x-axis with position at time t given by 
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a) Find the time t at which the particle is farthest to the left. Justify your answer.
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Find the value of the constant A for which 
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3. Water is draining from a conical tank with height 12 feet and diameter 8 feet into a cylindrical tank that has a base with area 
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 square feet.  The depth 
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, in feet, of the water in the conical tank is changing at the rate of 
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a)  Write an expression for the volume of water in the conical tank as a function of 
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b)  At what rate is the volume of water in the conical tank changing when 
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c)  Let 
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 be the depth, in feet, of the water in the cylindrical tank.  At what rate is 
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     changing when 
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(c) 
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The figure to the right shows the graph of 
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, the derivative of the function 
[image: image27.wmf]f

, on the closed interval 
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is twice differentiable with 
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a. Find the x-coordinate of each of the points of inflection 

of the graph of 
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. Give a reason for your answer.
b. At what value of x does f attain its absolute minimum value on the closed interval
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? At what value of x does f  attain its absolute maximum value on the closed interval 
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? Show the analysis that leads to your answers.
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c. Let 
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be the function defined by 
[image: image38.wmf](

)

(

)

x

xf

x

g

=

. Find an equation for the line tangent to the graph of 
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Multiple Choice Questions

1. B 


2. B


3. B


4. B


5. C

6. C


7. B


8. D


9. A


10. D

_1396365187.unknown

_1397311999.unknown

_1427475748.unknown

_1427475751.unknown

_1427475752.unknown

_1554463063.unknown

_1427475750.unknown

_1397312223.unknown

_1397312280.unknown

_1397312308.unknown

_1397312317.unknown

_1397312267.unknown

_1397312036.unknown

_1397312042.unknown

_1397312011.unknown

_1397311937.unknown

_1397311957.unknown

_1397311972.unknown

_1397311951.unknown

_1396365317.unknown

_1396365384.unknown

_1396365274.unknown

_1396364455.unknown

_1396365128.unknown

_1396365160.unknown

_1396364766.unknown

_1396364361.unknown

_1396364387.unknown

_1396364339.unknown

_1396364327.unknown

